Aufgabe 1

1. 432 7 118 550 O ok O -

2. 11 2 10 = 110 O- | O O+

3. 987 ? 137 = 850 O' O+ O'
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5. 1 7 10 = 110 O - (e ok

6. 16 7?7 13 = 208 e () - O+

7. 529 7?7 425 104 O - (e ok
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10. 978 ? 104 = 874 O O - e

11. 839 ? 187 = 652 O - Ot e

12,18 7?7 16 = 1288 O* Ot O -
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Ergdnze das passende Zeichen [1] | ANTWORTEN

Zahlen

Aufgabe 1

1. 432 7 118

7 550 S -
201 2 10 = 110 O - @ O+
3987 7 137 = 850 o | O+ E]
4020 2 13 = 260 E o- o+
511 2 10 = 110 O - @ o+

6. 16 7?7 13 = 208 o ) - O+

7. 529 7 425

104 - O° Ot

®
8. 960 ? 497 = 463 ®- | O+ | O
O

9. 877 7 454 = 1331 - [ O)e
0. 978 ? 104 = 874 O+ R (e
11. 839 ? 187 = 652 Q- Ot O)*

12. 18 7 16 = 288 @ O+ O -
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